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Computer Related General
Knowledge

Which one of the following is not the
example of non - impact printer ?

(A)  Daisy Wheel Printer

{B) Inkjet Printer

()  Laser Printer

(D)  Thermal Printer

A computer virus normally attaches itself
to another computer programme known
as :

(A) Target programme

(B) Host programme

()  Trojan Horse

(1)

Backdoor programme

Which key is used to move a cursor into

beginning of a line of text ?

{A) Esc
(B} Enter
(C) Home

(D}  PageUp

The process to obtain confidential
information from a computer user by
falsifying their identity is known as :

(A) Spoofing

(B)  Phising

{C) Spamming

(D) DBugging

B
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(D) PageUp |
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5. The gingle transaction between the CPU 5. Hi 917, T =M@ i (external memory)
and the external memory is known as o HEq THhe SEM-Y2H {single transaction)
=y S| D H_ FEd E
(A) IO cycele (A) I/O wEFs
(B} |data unit By =R ghE
(C) |bps ¢ycle (C) &Y HESRd
(D) |bit e (D) 2 2
0. Whigh (one of the following is not an 0. T A Ak U'ER it faey TE R
operdting {sgfstem ?
(A) Wim!:luws 7 (A) faE= 7
(B) |Chrdme (B) %M
(C) [Windows Vista (C) fem faem
(D) |UNIX (D) Ff=4
7. Which une! of the following is notamajor 7. $7H § %7 U% &r22 %1 T9@ f#0 78 &
function c:llf a computer 7
{A) |Data input (A) =T TR
(B) [Datal Processing (B) &= T
(C) |D_1taa! Storage (C) 22 HuEw
(D) |Dhtal Analyzing (D) =21 fager
8.  Full form df TIFF is : §  TIFF#I 90 &9 % :
(A) L'agg:'ed Image File Form (A) T THA FEE FH
(B) [Tagged Image Fax Form (B) T2 TAS e il
(C) |lagged Image File Format (C) TE TS FIgw WL
(D) [Tagged Image Fax Format (D) <75 THS el W
o i SPACE FOR ROTICH WORTY [ T st = e ==
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47. OD, OF and OF are perpendicular  47. OD, OE 791 OF, Fy=| = §7 =i ™

bisectors to the three sides of the triangle. efeaq faws §1 1 ZBAC[AS £BOC &
What is the relationship between £BAC e F HAY 7 I
and S/BOC ? |

(A) ZBAC=180~£BOC (A) ZBAC=180~£BOC
B) £BOC =90 + % ZBAC (B) £BOC =90+ -;ﬂ.gc
(C) #BAC =90+ % /BOC (C) £BAC=90+ %;g[;cc
(D) Z£BOC=2/BAC (D) £BOC=2/BAC

48. What annual instalment will discharge a ~ 48. 5% TI9RY =419 1 <0 @ ¥ 4620, 59 H
debt of T 4620 due in 5 years at 5% simple #g w1 % o foa =i feed =rl
interest ? T2 ? .

(A) 1080 (A) 1080
(B) 924 (B) 924

(C) 1280 (C) 1280
(D} 1050 (D) 1050

SPACE FOR ROUGH WORK / T% & & fori wmg
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49.  The ayerage marks of 50 students ina 49, Usw %4 § 50 i 7 sias o3 15 3| iy
class {s|15, Five students left whose BT 1 AT 37 15,25 a1 5 3 Fa Bream
average marks was 15.25 and 4 new = T T 4 B T afw wmHE: 13, 11,
students joined the class whose marks 10.5 S 9.75 &, T3 &1 73 | 9 e F o
were fespectively 13, 11, 10.5 and 9.75. F1 4T HHg HF 7.

Then the present average marks of the
students|in the class is -
(A) 14 (A) 14
(B) 14,12 (B) 14.12
; |
(C) 1465 (C) 14.65
(D) None of the above (D) 370 5 & FE o ==
|

50.  The difference of 10%—7 and 10M+x is  50. x % fg 79 5 9 1057 797 10% 4+ 4
divisible by 3 for which value of x ? = A 3 AT 2 20
(A) 3 (A) 3
(B) 2 (B) 2
(C) 4 (C) 4
(D) 6 (D} o

51. A hollqw cylinder is closed at both the 51, T et 3= % M1 fat 7= ¥ = S
ends. If the radius of base of the cylinder *F FYR F T Ao & S 5 et g
is half of height of the cylinder and the YT BT YW YRS FH AAEA 924 THEE 6
complete surface area of the cylinder is Al ST H S B
924 units, then the height of the cylinder
is:

(A) 14 (A) 14
(B) 16 (B) 16
(C) 18 (C) 18
(D) Nprje of the above (D) 3wl & 9 % o 7=
| SPACE FOR ROUGH WORK / T & % fordt wrire
Set- B 14 5021/ SE-SH,/RCE-M
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9.  Technology used to transmit digital data 2 L glalded =1 @l ZedlA i 7 ding we

over telephone network is ; * ferd EEES] EIEIREIE
{(A)  Bluetooth (A) =¥

(B} ASL (B) YUHUH.

(C} Router (C) U3

(D} DSL (D) EhLuaua.

10.  Which of the following is not a Gfmgle 10. =1 H 9 wE- e (Godgle) F1 W=

software ? (software) 7& &7
(A)  SketchlUp (A) T
(B)  GMail (B) S
(C}  Google Earth (C) e 2t
(D) None of these (D) =78 § FE o1 74|
11. Google is a 2 11. & @& &l
(A)  Web browser (A)  =E STI :
(B) Search Engine (B) = fof |
(C)  Web Server (C) =9 Hat
(D}  None of the above (D) 39l # | # o T

12. Best quality of Graphics is produced by : 12, HATTH MIEEH &7 =1 Hhat @

(A) Dot Matrix (A) =iz ffzea F g |
(B) | Laser Printer (B) o TH2 & 5
(C)  Plotter (C) AT % BH

(D) Inkjet Printer (D) ¥asie fifet & g

SPACE FOR ROUGH WORK / T% &4 % f&d sme
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13.

14. Which

{A)
(B)
(€)
(D)

15. Which

[

0 f
the capag

off

CPU
(A)
(B)
(C)

(D) Silv

16. Which

browser 7

(A) Ope

(B) Fi
(€)

(D) U

In

Silig
Cop
Silie

ot

the following storage media has

e qf the following is not a web

|
ds for ;

eo Graphic Array
ideo Graphic Application
uali Graph Array

ne of the above

ity| to store maximum data ?

VD

ray

the following is used to make
op!n}cessm ?

d
per

ony

er |

Ta

refox
ternet Explo

DU t1,1

Set-B

13.

14.

15.

16.

VGA I Yo o o

(A) difedr mies ux

(B) =tfeat mitee ufierram
(C) forgeret o1& T

(D) TF T 9 = 7

=1 5 4 frg 9mo 9199 (storage media)
H AT BRI HERW (data storage) i
AR ?
(A) TEELEY
= 1

gLALE

CPU mgsiweat = 2 fre & & fas
S T S g ?
(A) Tafe

(B) I

(C) Tafest
(D) fae

Eﬁ'@ﬁ?—waﬁaﬁﬁliﬁ%?

(A) S
(B)

-

HTETR
T TEEE

B E

-

S‘Pﬁ\uu A OWAA AN AN TAE O FY LSRN J.l' iar Wl]ﬁ %‘ i{'la E IIE
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52

53.

2 +.45 o 2 —-J5 i
245 2+45
(A) -1

(B) —18

(€ 5

D) -5

If x*—3x+72 is a factor of ¥¥—axi+b=0,

then the values of a and b are ;
(A) =5 —4
B 4

—~5 4

The sum of two positive integers is 52 and
their LCM is 168. Then the numbers

are

(A) 32,20
(B) 17, 35
(C) 16, 36

(D) 24, 28

B

53,

2+ \E i 2 =5
245 245
(A} =1

(B) —18

(€] 5

(5] J5

31 W R &1 AW 52

HHTES 168 21 a9 HE )

(D) 24, 28

G

i

+0 &1 UF

IT AT 15T

SPACE FOR ROUGH WORK / T% &Td & g 51
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55. Circle ig cjretimscribed around a square 55, T 9 ABCD & =R SR Us Jd F=1 T4 8

ABCD a %iv n in the figure, If the area T 39 4 TRHT UF SEER 9T H AARS
. B . R S
of one o 1519: shaded portions is 7 the 5 A B
il

radius of rircle s

N
(A) 1
(B} 2 (B) 2
S ¥z (€ V2
(D) None of the above (D) Ioied d | FE o

56. The radiusl of the incircle in the given 56, &% i fast H artaye =1 T a1«
diagram wiPl be :

A A

& om / b ocm

S

B 3 !L:_;n/ £ B 8 L:m = -
(A) 1.8 dm (A) 1.8 cm
(B} 2.0 qm | (B} 2.0 cm
() 2.5 gm ) (C) 25 cm
(D) 3.6 qm (D) 3.6 em

SPACE FOR ROUGH WORK / 1% &Td & fod - e

Set - B 16 5021/ SE-SH/RCE-M




57. The set of values of p for which the roots 57, p 3 AN F HEE FHE, [SEH ivld dH1sh
of the equation 322 +2x+p{p—1)=0 are 3k 2y +p(p—1) =0 + M farE s &
of opposite sign is : g7
(A) (==, 0) (A) (—.0)

By (01 (B (0.1
(€ (1, =) () (1, =)
(D) @ =) (D} (@ =)
58. Let (xr, y)=LCM of x and y, and 58, MI(x, y)= x 3Ry F1 W Foreecd @
3
[x, y]=HCF of xand y. If e T=2’ [x, y]= x ¥ y F1 TETH HAMSTF ¢ Tl
2 3 2
and E—1.-;=_’L|:ZIfch»en{.«c,yj[:-c,_l,»]: - — =12 ami _3 =10, 99
\l"; .\Ill"t} W |tl.f S 1\]},r
(x 1) [x y]=
(A) 36 {A) 36
(B) 4 (B) 4
) o (C) 6 '
(D) 81 (D} 81

59. 232 +7332 —Bed = 59. 23147332 - 3864 =
(4) 1043 (A) 1043
(B) 1094 (B) 1034
(@ ad10 (C) 4310
Dy 10 (D) 10

SPACE FOR ROUGH WORK / 7% ®Td & fod &g
5021/ SE-SH/RCE-M 17 Set- B



60. In anjurn there are coins of T 1, 50 paise ~ 60. UF ¥ & T 1, 50 49 791 25 T4 % fawi =7
and 25 paise in the ratio 5: 6 : 7. If their AT 5:6:7 81 AT T Fe e
total value is T 117, then sum of numbers T 117 @, 9 50 T =i fasl %] wen v
of 50 paise|coins and 25 paise coins is not 25 TR w1 AR w W@ w1 An fafad
divisiple by : T 2 ?

(A) L3 (A) 13 M
® 7 (B) 73w
() & (C) 47
Dy 6 (D) 63
61. A milk seller buys milk at the rate of  61. UF M T T3 0l e F owm & 2w
1 o i 1
T3 per litre. He mixes water T of it and wiEdl £ 77 29 T4 [ A F 3 T
sells the mixture at the cost price. Then el s =) FA-Yed WAASA § | a4
his percentage eain is FeT oY Wi ¥
(A} 200% (A) 20%
(B) 150 (B) 15%
(C) 25F% (C) 25%
(D) 305 (D} 30%

62. A moibrboat is racing towards north at 62. TF HZEE 397 &) e 23 ﬁ‘%‘.ﬁtl.;"af, FI
25 kmy'h and the water current in that TN H ¥ 6§ AN 39 g | urt & &
region|is 10 km/h in the direction of 60° i o 60° qd =1 fewn 7 10 A H
cast of sputh. Resultant velacity of boat T2 T IO S (EIE)
is {(approximately) :

(A) 2242 km/ (A) 2242 T
{B) 20 km/h (B) 20 f=.Hr /4
(C) 22 kmi/h i (C) 22 L/,
(D) 2042 kmn/h (D) 2042 f=d/H.
SPACE FOR ROUGH WORK / 1% &1 % fau =g
Set - B 5021/SE-SH/RCE-M




63.

64.

b3.

In a village there are five men for every
four women and five children for every
two men. If there are 648 women then
what is the population of village 7

(A) 3475
(B)
()

(D)

3473
3483

MNone of the above

The value of the fraction

1 1
{1245ﬂ9)f§ % {'1216?}’6 -
10°

(A) 8119
(B)
(©)

(D)

81.19
7119

7119

If .= 2ah )

% the wvalue of
a+b

then

x+a+x+bi5:

¥x—b

(A) 1
(B)
©
(D) 2

s

L2

63.

FE?
(A) 3475
(B) 3473
()

(D)

3483

64,

WﬂrﬁﬂMWﬂiﬁm
£ A g = gl & To
el 71 TeT 648 % 1

S § | P T ]

1
o (124609)'2 x (12167

T

Ted =T HIgEE
AT AR

T ¥iTa =t A&

) 3EI'?['ElT"'T%':

10°

(A) 8.119
(B)
(<€)
(D) 71.19

81.1%9

7.11%

RIS

2ab & x+q |

|.x+bEHlTiF[

a+b

(€ 3

(D) 2

X

r—hb

SPACE FOR ROUGH WORK / T &4 % fod oe |

5021/5SE-5H/RCE-M

19

Set-B




VYT L] USRS e greatest Iteger value just 66. [x], x F = 99 ugay ‘i‘ﬂ‘ﬁ'm" %1 wafyla
below xland {x} its fractional value. The T E AUT (v) 3HF BT o w1 At
sum of [x]7 and (¥}2 is —7.91. Then the [x]? @20 (v}2 =1 A —7.91 & @ ¢ 1 oA
value offx|is : T
(&) —D.03 (A) —2.03
B) -—-197 (B) =197
(C) -2.97 (C) —2.97
(D) ~1.7 (D) 17

67. If e and Blare the roots of the equation  67. 4f% o @it p G ¥ —px+q=0 % 7A

2-pxHq=0, then the value of ; g
x5 —poxtq | I value o £ 2,9{ . 2;3___ S
I s - ¢ +q B +gq
s is :
{xz +q:- 1B H q
P P
iy - A T
A g @ g
2 2
=l B =
® ®
2
3 o) =
© © 3
9 9
®) 5 ) -
SPACE FOR ROUGH WORK / T% &1 % o wmg
Set - B 5021/SE-SH/RCE-M




17.

18.

15

20.

IPv6 internet protocol address system is

written in :
{A) Binary
(B
(
(

Octal

=

1 Decirnal
[} Hexadecimal

Shortcut to switch between two open
worksheets in Microsoft Excel software
(4)
(B) Cirl + F10
(C) Alt+F8

(D) Alt+ F10

trl + F8

Which of the following is not a developer
of Mobile Operating System software ?

(A)
(B)
(©)
(D)

Google
RIM
SIM

Microsoft

When you switch-on a computer which

memory is first activated ?
(A) RAM

(B} Hard Disk

(C) BIOS

(D) None of thes

17.

185.

19,

20.

L. 1 n
IPv6 322 WRiETe Tgd fhed =t qomet

Y o 9 %
(A)  FEA

(B) &R
(C) =fama
(D) To-2fama

Wﬁwmﬁﬂw&%ﬁ ot et adie

% N1 WA B og MRS

ol + F3

Ctrl + F10

Alt + F8 '
Alt + F10

(A)
(B)
()
(D)

Fali

Freffefan ¥ @ FH-41 Mawe amRfen

o W Tamfad &0
£?

(A) T '
(B) o (s.amign.)
(C) fom (TH.amEA. )

(D) THIEHETE

! HrE! St a8t

fFal Frgel & fe=a-a
HA-H T T (fach
(&)

(B) TE-Tem= !
C)  FriE

D) TH 9 E T

SO T HERYH

vate) BT E7

SPACE FOR ROUGH WORK / T% &1 & Tordl wre

5021/ SE-SH/RCE-M 7

Set-B



| .
|
HHTH [ET 26.  HEITEF 15 YZ-A%" F v w9E T
(A) T HA
21, fAeifens H | <o vieg &1 FR (B)  wrerefiame T
(A) :]‘: (C) &g HHH
(B). U (D) FHaT T
{C) TE¥E
(D) THEH
27. #f + A9 = SFEEm
22, ‘S AtEEE R % e wage = 2 H fea st 1 wen e
(A) T (A) o1 =R Hy
(B) =i By i = Ey
(©) &: afl (C) am =R wfy
(D) fqaEm (D) svaifs @ @
23, ‘ET *1It!¢ﬁmﬁﬁﬁﬁmﬂ 28.. o o et e
7o w9 @] fAia
(A) ®
(A) T P
® 9 By =
(C) (S
(D) E]"EEF:I |~mﬂ GRS (D) A
24. fi=Aithq § § 9EEE 69 % /R F 29, fyefafEd ¥ © $F-O1 weE o’ IvEd 3
o || | fiftla T 47
(A) wmmi (A) @
(B) TeaIe (B) ¥
(C) | (C) R
(D) 4y ﬂibii (D) ST
25. AR (B H a1y 9T o .
(A) T B AHRET S e U ge 30. TveTiid 5 R foRin i 9h :
(B) H4‘?%w|ﬁ’§m?{-‘iﬂﬁ1‘“§"| (A) TR
(C)  HHTTE 1 Fr-=m To ga (B) fommE=
(D) ﬁwlﬁmmmmﬁm (C)
Tr]ﬁ ‘ (D) TEa
| I i e e e i o i i e o P
)
Set- B 8 5021/SE-SH/RCE-M



General English 33.

31. Find out which part of the following

sentence has an error,

He tried / hardly to / win the race.

1 1 I
(A) 1
(B) 1
(C) 1 34,

-

(D) None of the above

#

32. In which of the following sentences the

use of the idiom ‘at sixes and sevens’ is

not appropriate ?

{A) He apologized because the house

was at sixes and sevens,

(B)  Our teacher had just moved in to a 35.

new classroom, and she was still at

sixes and sevens.

(C)  After the captain of the team broke
his leg, the other players were at
sixes and sevens.

(D) The dog's barking kept the Browns
at sixes and sevens with their
neighbours for months,

Choose an approprijate word from the

alternatives given to supply a conjunction

. |
for completing the fallowing sentence.

|
He acts B . -

boss. ,
(A} like |
(B} that I
(C) asif 1

(I}  so that

gre already the

Select the word that|is most nearly

| _ .
opposite in meaning to theword in capital
I

letters, |
HEARSAY

(A} DPrecious

(B) Estimate

(C)  Authentic .

{12} Indecent

Choose the correct senterce

(A) There are maﬁ}r 1
Oxford Street. |

(B) There are many la
Oxford Street. |

(C) There are many lar
Oxford Street. |

arge shops in

Tge shops in a

e shops in an

(D) There are many large shops in the

Oxford Street. |

° CPAFT BEOR ROTTOH WARTK (TR 3Td 7 fer ==

5021/ SE-5H/RCE-M 9
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39,

40.

He says to us, “Keep the gate closed”.

[dentify the correct indirect expression of

the above imperative.

{A)  He says us to keep the gate closed.

(B) He says to keep the gate closed.

{C)  Hesavs that we are to keep the gate
closed.

(D} He asked that we were supposed to

close the gate.

Complete the following sentence by
mserting a suitable preposition from the

given alternatives.

We are sorry s MO
misfortune,

(A} about

(B) for

(C)  at

(D) with

*ACE FOR ROUGH WORK / T% T4 & fod @

s |

36, Sel lJ the group of words that is most
neatly similar in meaning to the idiom/
phrase in] capital letters.

GORDIAN KNOT

{(A)| Utmost hatred for someone.

(&) loke family tree

{C) | Totwist hair into a particular shape.

(I2) | A seemingly impossible ar difficult
task or problem.

37.  Chogse the most appropriate one word
subslilirte for the following from the given
alterpatives :

To gend|back a person to his own
countrp.

(A) | Hxpatriate

(B) | Delggate

() | Bxpel

(D) | Repatriate

38. Chogse the correct passive form of the
following sentence :

[ remermnber them taking me to the zoo.
(A) |They remember taking me to the
Z00,
(B) |l pemember them taken to the zoo
by them.
(C) |I remember being taken to the zoo.
(D) |None of the above
I
Set-B
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41.

42,

43,

Mathematics

A sum of money put at a compound 41

interest amounts in 2 years to ¥ 673 and
in 3 years to T 714, Then the rate of
interest per annum is {approximately) :

e
(A) 4 —%

1

Ifa+ == J3 , the value of 4> o i i5 42,

a a3
(A) 3
(B) V3
(C) 0
(D} None of the above

In a triangle ABC, D, E, F are mid points 43.

of BC, CA and AB respectively. If P is
point of intersection of AD, BE and CF
then, which of the following is true ?

B "W PE 1
(B) FO PF PE 1
AP _CP_BF _4
D PF PE 1

(T Wlane af the ghove

(€)

T

#% ¥4 2 9 % T 9@alg 9§ W 673
o1 379 % oy wEITE BN TR 714
EiLikd ﬁﬂmuﬁaﬁ%(mw):

ok

@ 1

(D) 6.4%

1 — = |
qg a + — =3, 33'4--1_3?1".7[11[3%:11 :
a a

(A) 3

(B) 3
(C) 0 _
(D) 3wiea H F FE o Taf

s f44s1 ABC A D, E W41 F $m¥: BC, CA
d91 AB &% A4 famg €1 9 |AD, BE @21 CF
U EL ) P fag Wwed & o fretafen |
W 72

AP CP _IBPH
PD PF PE
B AP _CP _ BF|_
B} P0 T PE " PE
© 5~ Pr PE
(D) S § § w0 off

|
(A)

Y e L )

SPACE FOR ROUGH WORK / 7% @14 & fod ome

5021/SE-SH/RCE-M 11
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44, I V2|r+ 22 y =342 and 44. A 2 x 4242y =342 T
5V3 ¥ T 4“@ ¥ =~/3, then (xy)2"15= 543 x - 43y = J3, 79 (xy)2015=
2015 2015
@ b5 ® 5
(B) (B) 1
| 205 NE
© L5 © ,3
(D) 2015 (D) 2015
45. When|1871414% is divided by 11, then  45. ¥ 13+ 143 &1 11 & fasnform fran s &
remainder is Hﬁﬁw%:
(A) 13 (A) 13
(B) 2 (B) 2
(€) 14 () 14
(L) 3 (D) 3
46. If threp persons fire from their pistols 46, 4% @7 =fag =797 finger § w2ef ax s
simultaneously for the first time. After WY FEAT W E adl S 9YEI 9 HE:
that they|fire at every 3, 5 and 7 sec. from T 3, 5991 7 Hahve F o0 fome §
their I.;Lstois-. How many times they fire W A €, O uE Ave § F diet uw e
together in one hour after third T o TR fRAAl 9 U ' SR S
simultaneous fire ? 7
(A) 3R times (A) 329X
(B} 3B limes (B) 339K
(C) 34 fimes (C) 344
(D) None of the above (D) e i ® FE T2
SPACE FOR ROUGH WORK / T% &1 % o9 we
Set- B 5021/ SE-SH/RCE-M
|




6H8.

69,

70.

If the area of curved surface of a right
circular cone is 407 units and radius of

its base is 5 units then its height is -
(A) 3 units
(B) 5 units
(C) 7 units

(D} None of the above

If 23x+3.1y=1.5 and 3.1x+2.6y=23.6,

then |xy|=
(A) 2.3
(B) 2
(C) 3.1

(D) 1

Two trains, each 0,100 km long, are
travelling in opposite directions with
speed 36 km/h and 15 m/s. The time of

crossing is :
(A) 8 sec
(B) 4 sec
() 10 sec

(D) None of the above

64,

69.

70.

‘ﬂﬁﬁﬁm@h%@%ﬁ%‘h

73 ] &I

40 THTE B G TR ST R e 5 T

21 Al g9 SEE 2

(A) 3 TEE |
(B) 5%FE

E

() 77

(D) =7 # & F:i8 off 7

afT 23x+3.1y="15, 3 3]1;

a4 jxyl=
(A) 2.3
(B) 2

(C) 3.1

(D) 1

41 yermfedt, 9= 0,100 1

feamett 4 36 f.HT /o

9 9 =5 I ER
|

g &

Rl

ol

(A) 8H.
(B) 474
(C) 10 4.

(D) e o 9 & ol AE]

+2.6y=3.6,

SPACE FOR ROUGH WORK / T% &1d & fod s

5021/SE-SH/RCE-M
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@
indiresult.inlwhatsapp - 9352018749 a /;‘9 INDIRESUT
Mental Ability AR Fadar
71. Which of the following number is 71. TeAfcfaa § S0 @ &% a3 i 27
different ffom gthers ?
(A) 41 .
{A) 41
(B) 61 (B) 61
(C) 85 (C) 85
(D) 115 (D) 115
72. 1 = m‘|ﬂﬂ5 i 72. afy  + = +
% m]uans X e —
+ 111]ﬂ.ans P + arerd
— means |+ — areE -
g I §-2+10+2x6=_27
(B) 14 (B) 14
(C) 16 (C) 16
(D) 18 (D) 18
73.  What is the next term in the following 73. FeietEG s=wa o avmen ug g g ?
sequence ? B
1,504, 30)5p, | 1,5 14, 30 55 ?
(A) 91 (&) .g'il T
(B 92 (B) 92
(€) 93 € 93
(D)  Nong of the above (D} Swea § @ g off T8
74.  Which regipr| represents voung, educated 74, &iA-H] &9 ECll forita vd faArsm =@
and unemplayed persons ? =it F Twia 2
Young | 4] '
e /1 h\‘“%—L_Jn{'ziuthd ! 7 f\ . :ﬁaf?ﬂa
A ! 5 | -
2 - \ 14/ ]
2 | 2 4 -1
5 /% ’/ Employe d ! L — L
(A) 1 (A) 1 _
(B) 2 (B) 2
(=) 3 {(C) 3
(D) 4 (D) 4
SPACE FOR ROUGH WORK / 7% &4 & fod @
Set-B 22 5021/ SE-SH/RCE-M




75. Find the missing term : 75.

BRI T T e d XN
(A) 18G12

(By 20G13

(C) 18G13

(D) None of the above

76. Find the wrong term in the following 76.

SEUENCE |
2,4, 84,8 16, 6,12, 26, 8, 16, 32
(A) 16
(B) 26
(C) 32

(1) None of the above

77.  How many among the following is neither 77.

T TG T E

A S6DZ b 4

(A) 18G 12
(B 20G13
© 18G13 |
(D) SR 4 W w87

mmﬁﬁwem—qﬁrfm

2,4, 84,816 6,122

(A) 16
(B) 26
(C) 32
(D) 2wt d | ?mﬁ? off

T
e

21V 21

e HE HA

&) 8, 16, 32.

frafafea & 9 frad 7 ffem € 7 faard

educated nor player but is male and i 789 9 gRMa '%?
shopkeeper ? i
Shopkeepers geh[al!
i %RA 7——TPlayers L(/gqm A—farest
12,6/ 13 12 16/13
- ——Male | | I
9 /11 ] 9 /11 \| :
/5 \A—Educatud b 3 i‘_a, Farfera
(A) 4 (A) 4
B) 6 (B) 6
ol il (C) 12
(D) 11 (D) 11
SPACE FOR ROUGH WORK / T% &Td % ferdl &7Te |
5021/ SE-SH/RCE-M 23 Set - B




78. Whick fJIl‘l:L of the following four logical ~ 78. F=ifsd =r fadl o 9§ Fm-w T3,

diagrams represents correctly the faendl, firse faars), 9 Bl % Heg Hadi
relationship| between Tenis plavers, = HEl-Tal qua § 7

Cricket players, Students ?

of@w 0B@w
- I N N R RV,
(A) (B () () (B) (<)
79. If CAT=25 79. 4fz CAT=25
GE[T =33 GET =33
DAG =27 DOG =27
Then AWEl=_17 AAAWE=_2
(A) 28 (A) 28
(B) 29 (B} 29
(C) 30 (C) 30
(D) None of the above (D) Irfem o & 1 e

80. Count the number of cubes in the 80. TA=ifea s o == =1 9w =1 7o 551
following figure

il AT
-
V- A
il b ."‘\\ Q}' - - -
NI Ve N K
?\\ R A %\\ o R \\.
3 RIS o= o s
&_ Q\z\' b".\ ‘g‘ \\\\_Q\
) 3 3 R
= S \\.
(A) 92 (A) 92
(B) 87 (B) 87
(€) 89 (C) 89
(D) 90 D) 90

SPACE FOR ROUGH WORK / T% &1 & fad 57
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81. Find the missing term in the following §1. fr=faiEs == o o= 98 36

diagram :
5 6 8 5 5 6 8 b
& 10 | 3 5 9 i
2 11 13 13 | 2 11 13 13
16 18 19 | 16 18 | 19
(A) 5 (A) 5
(B) 4 (B) 4 |
(€) 6 Q) 6
(D)  None of the above (D) 39ddF o | Fh3 T
82, Select the diagram which will come next — 82. fa=f % frefefea sy o smen fa=

in the following sequence of diagrams FA-T Eﬁ"ﬁ"{]ﬁ /

b ; = —K o 4 } 5| K
B lL\x ©A y “A ol H Ko Ty j
LY

T P o) AD[AR[An] AR
T b ] N 7 e b I
() (B) () (D) (A) (B) (C (D)

83. What is the number opposite to 5 in the 83. ‘mrw' = HEfefEd ﬁﬁlﬁl Tl 5% famim

dice position given below ? FH-H1 &HF §?

6 /| /6 5 1 6 6.1 75| 1
% |5 ‘ zg 6 9 g |2 3 |2 K? U0l 6 |2 2 |2
(a) 1 (A) 1
(B) 2 B) 2
< 3 (C) 3
(D) o (D) 6

SPACE FOR ROUGH WORK / T% &Td % fad s
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54. :_ve]iect the one which is different from 84, THMTET ¥ @72 9 firq =1 =499 =47 -
othets ;|

(A) | CE (A) CE

(B) G}|< (B) CK
|

(C] | MO (C) MQ

(D) [SX (D) 85X

85. I—Iol:v many triangles are there in the 85, o= # farad foy= ¥ aameu
fignre ?

(A) 15! (A) 15

®) 1:?; (B) 17
I

(©) 19|' () 19

(D) 2{)! (D) 20

SPACE FOR ROUGH WORK / 1% &4 % fod e
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General Knowledge

HIHTA AT

86. In how many stages the elections were 86. 1691 wiE G ﬁ?ﬁﬁ?ﬂﬁﬁlﬁ 12/W8 2014
held in the 16! Lok Sabha from 7 April S fehe =eol H AT e g 2
to 12" May 2014 ? |
(A) 07 (A) 07
B) 08 (B) 08 |
(C) 09 (C) 09
(D) 10 (D) 10 .
|
87. Which organ is known as Adam’s  87. IN-W 7= H T omew & e F w5y
apple ? C i |
(A) Pharynx (A) TITTH
(B} Larynx (B) wfrs
(C} Trachea (C) fFa
(D)  Oesophagus (D)  SHFTE
88. Analloy of iron and Nickel is called : 88. Treo-aire fag umg 1 Fed €
(A) Brass (A) drae
{B) Invar R (By FEI |
(C) Bronze (C) A
(17} None of the above (D) SWEA H 9 @®1E e
SPACE FOR ROUGH WORK / 7% &1 &% fod s
5021/ SE-SH/RCE-M 27 Set - B



89. Fourfeenth Finance commission has 89, =iegd faw emam gra e Fedtefiae 1o &
incregsed the share of states in central TS I T A A
divisiple pool :

(A} frbm|28% to 38% (A)  28% 9 38%
(B) frpm|32% to 42% (B) 32% & 42%
(C)  From|28% to 42% (C) 28% H 42%
(D} nonelof the above (D) ST A H wE T

90. Which |of| the following is a mud a{. Fmﬁﬁﬁ?'m&mr%7
VrﬂEHVLD 7

(A)  PBdrren isiand {A) = B

{B) Narcondam island (B) HAR®HIvET E9
{C) Peccan Trap () S ?‘."-T
(D) Bgratang island (D) =T &Y

91.  Undef which Article of Constitution can 91, Ing9f Gfa9m\ & 5y sig=e F @wniq

the President dissolve the Lok Sabha ? R 9T T A 7
(Ay  frticle 95 (A) T 95

(B)  Riticle 85 (B) &q=ds 85

(C)  Raticle 356 (C)  3T=re 356

(D) Paticle 365 (D) =TT 365

92. When was the first meeting of the 92, HEUF 991 %1 947 S5 Fd 7 g2 91 ?
Constityent Assembly held ?

(A) 02 Dec. 1946 (A) 02 FEHa 1946
(B) 9] Dec. 1946 (B} 09 FHTL 1946
(C) Q4] July 1947 (C) 04 FoE 1947
(D) 15 Aug. 1946 (D} 15 21T 1946

SPACE FOR ROUGH WORK / 7% @h1d & g =g
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93. By which of the following names Shivaji's 93

Council of Ministers is known ?
(A} Sapta - Shahane

(B} Ashta - 'radhan

(C)  Nau - Ratna

{12y Dash - Mantrin

94, What is correct about casting vote of 94,

Speaker of Lok 5abha ?

(i)  I[tcanbeused in removal resolution
of President,

(iiy It can be used on Govt. Bill.

(i1) It can be used on No confidence

freferfaa o & foerg a3 T S phdes

AT =0 E ?

(A) T .=
(B) ®= - GEH
€y -3
(D) =¥ - =

HE "YU TR F TEss Ha

TEFEY

(i)  °g Tmegld F UEed W
T =1 W B

|

__g_lz

faug o

T 39

(ify ¥E WA fG9EF W g

Tl B

T =m

(iti) TE AT TEE W qu“w [EEIET

motion. HEA T |
(iv] Itcan be used in removal resolution {iv) 48 R R e W O 3T
of Judges. o o A
(v) It can be used in Constitutional (v) =% " Hyme fa s v 39
Amendment Bill. e = T £
(wi} It can be used in Money Bill. (vi) 9% T fadae T 294 e o waa
7l
(A} () Gv), (v) (A) (i) (%), (v)
(B) (i), (v), () (B) (i), (), (v)
() (i), (i), (vi) (C) (id), (iii), (vi)
D) (i), (i), (vi) | (D) (i), (i), (vi)
SPACE FOR ROUGH WORK / T% %14 @& Tod w778
Set - B

5021/ SE-SH,/RCE-M 29




95.

96.

97,

‘J\Tll'lic_'i'l mountain pass in Himalava
)] ne{ct&s Indian Siate of Sikkim with
Th a|?

[ E'[ihipkila TPass

. {¢}| ?umla Pass

{Cj| I.I,ipu!ekh Pass
[Dj| }|Jathula Pass
N

Re m-nlling garth which statement is

L‘l|1'IE:i(f ?

(M) Errth is in geoid shape,

ir

—t

(B] Pi)lar diameter is greater than
| ETmtnria] diameter.

(C | lefurunce in value of equatorial

and polar diameter is the cause of

| Ea|rth’5 oblate spheroid shape.

(o Ezjrth is flattened at the poles and
|bu|lges at the equator.

Ter tll SLTF'EEdLILE added to the Constitation

tec! o

Special Privilege to the State of
Mizoram

is rel

>

(B) h-’rqvisinn as to Disqualification on
the

ground of Defection
{C) Follditions related to the status of
?ik'(im

(D) 1\104143 of the above

Set-B | |

43

96.

07.

feamera 5 ®F-91 92ISl 799 (U) YREE
T fafas i =\ & w1y Srea £ 7

(A)y TemosRien o (v

(B] =HC A1
(C) Torgere am

(D) 19l 14

get % ey ¥ T9 § 9 wE-9 999 9

TE 27

(A) gl T ¥ H )

(B) YHg =0, YAEED =| ° AlE
BATE

(C) AvIE =0 Ud yag o= § 2
F HA U] GIRE SR AHEE °

21

(D} gl el T T Y 9 E9
g g ¥

Tl B ST T gt gt defd F

(A) Tusire w9 % o8 favm vy 9
(B) =7 WA # S7EE T HAET 6
# WAy

() fufen 3 feaf @ wetm v @

Dy I9EE H Tt | @l

| | SPACE FOR ROUGH WORK / 7% @14 & o9 W&
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98.

g4;

100.

Lunar eclipse occur when :

(A) The sun is between the earth and

the moon.

(B) The earth is between the sun and
the moon.

{C)  The moon is between the sun and
the earth.

(D) None of the ahove

What 15 the meaning of core sector in

planning ?

(A} Selective Infrastructure Industry
(B) Agriculture

(T} Security

(D} Iron and Steel Industry

At which of the following places in
Tamil MNadu the famous Brihadishwar

temple is situated ?

(A} Tanjore

(B) Kanchipuram

(C) Madura

(D} None of the above

98,

g4

HEUEI FH B S 7 WA
(A) T4, 9w UF HEH
(B) ‘iﬁi?{fffua‘a‘wﬁ%

(C) =g, HF wd geAt

(D) 3T H ¥ FE 7E

Wﬁﬂﬂ?@ﬁaﬂﬂﬂﬂﬁ%\:

(A) =FAE A it

=

(B) =M
(Cy

(D) witer oF 2o e

i

o A AT 2

] 3] AT 2

T A AT 2

100. afmerg | fFr=faiea § 3 vy wam wufag

sEd v Higt frm &7
(A) TR

(B) HIETRH

() HgY

(D) 3ve ¥ & i 7

SPACE FOR ROUGH WORK / 7% &4 & " w7
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101. Whao
the R

(A)
(B)
(C)
(D)

102.

(C)

(D)

103. Tow

Asho
(A)
(B)
(©)
(D)

[

L

il

L=4¥

L

N

10
5

H
Sl

of

th:e following was the leader of

olt of 1857 in Lucknow ?

Begum Zeenat Mahal
Begum Hasrat Mahal
Begum Hazrat Mahal

Begulm lzzat Mahal

In which latitude Torrid zone falls ?

[

- 1
Located between 0% and 235 north

and south of the equator.

o

; : L1
poated between latitudes 2::-2—

o

T;
1d ;665 north and south of the

Juator.

o

1
ncated between latitudes 665- to

)” north and south of the equator.

one of the above

h of the following ancient dynasty

- the - Great belonged ?
aryak
hishunaga
laurya
wunga o~

101, Fr=ifefea § ¥ 249 1857 & f95iE &1 9@ -

102,

103.

H Far oft ?

(A) =T Fa TEd
(B)
(C) =T gEd HEe

(D) =9 o= "WEel

form wape o 3907 swieEs g | 7

(A) 9Hed @1 | 3o ud gfaor #
g 23% SR & HH

(B) YA Tl ¥ I U4 afem 23%— &
66% A F A

(C) vm= i@ | o oug gfaer o

g -

665 H 90° ey & HeA

(D) S § & 5 72

ATNF g AetaEd 1 9 e =i ey
W (e o1 ?

(A) &

(B)  TempAm

(C)

(D) 9

Set-B
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105.

106.

104. Against which of the following Act 104.
Mahatma Gandhi launched his first
nation-wide satvagraha in India ?

(A) Pitt's India Act

(B) FRowlatt Act

(C)  Regulating Act

(D}  Vernacular Press Act

Why does land heats and cools more 105.
gquickly than water ?

{A)  The specific heat of land is high

{B) The specific heat of water is high

(C)  The specific heat of land is low

(D) The specific heat of water is low

“Open Market Operation” is a part of 106.

which of the following Policy ?

{A) Income Policy
(B) Monetary Policy
(C)  Fiscal Policy

(D) Labour Policy

frrefafea o 4 faa % 3 =0

o HRERE

Ml A wra ¥ gyw " 1es

AT ?
(A) 92 =1 sfemn H

(B)  ere F1A

(C) @ wrE

(D) =R TH T

M1

I S

i Y Ol 1 e H SE SR O aua
AN I= A &7

(A)  gfF =T T T s g 2
(B) W =l fafvre s s 9§
(C) 4§ = fafir= e w26 7

(D) T 1 Tafme g 6 g E
et AR & R fefetee [ e

At =1 AT E 7

(A) 3 A

(B) iz i
(C) T i
(D) = Hif

5021/SE-SH/RCE-M
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107. Which amu#gst the following officials

can panti¢ipate in the proceedjngs of any

House pf|the Parliament ?

(4]
(B)
()
(D)

l'jefem%e Secretary of India
Altt ‘)I‘T‘L:L‘}-' General of India
Clhief Tustice of India

None J)f the above

108. Which of the following instrument is used

to measure Pwind direction™ ?

(4)
(B)
(€)
(D)

Althmeter

Barometer

Wind Vane

Anemonmeter

109, Which secto

contribdtion in MNational Income of

T have maximum

India ?

(A) i ’na'fy sector

(B Semnaar}' sector

() e tial}f sector

(1% Equal{}f from all the three sectors

110. In which si'a:tu there 1s Maximum Literacy

Rate of women

(A)
(B)
(©)
(D)

Kepala

Mizoram

?

Tamil Nadu

West Bengal

107.

108.

109,

114,

=TT =T o S -1 90 SRE 398 & T
07 Weq w1 HEERE A TRl

(A) VTR ST 18T Hi=a

(B} A & HETEERE
(C) a1 5= =
(D) Todsa | 9 &E T

fos o | Ty 43 =1 3w e = e
T S & Ty TR = 7
(A)  aFEHI

(B) EHRET

(C) = e
(D) ErHHER

TE R TS A B OfEw A waias
arTErE 37

(A) TUTE &3
(B) faom &=

(C) wdiaF &3
(D) =70 = JE

Higenai 1 @Wera X Fad s Fy
HE?

(A) @S TG

(B) el

(C) TomRH

(D) uf¥=m =

Set-B
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111. Which of the following is the site of  111. 77 & & feprif wifet Gvehum g 7
protein synthesis in a cell ? '

(A) Mitochondria (A)  WEZEfZ |
(B)  Ribosome (B)  ¥rEaEm .
{C)  Endoplasmic reticulam (C) WEremmE ifegem
(D}  Golgi body (D) et wTEt

112. The glassware used in kitchen are made 112, =4 ¥ 9937 wid % =6 mlsy =g o

of Pyrex glass because ithas 94 g9 § w9iTs 9% faean T
coefficient of expansion. B F |

(A) High (A) ifys

(B) Low (B) =9

() Medium (C) Team

(D) None of the above (D) 39 H 4 i e

113. In which country, First Industrial 113. ﬁaﬁﬁ@ﬁ%{mmﬁmﬂ"nﬁ@?

Revolution had taken place 7

(A) France (A) W
(B)  Germany (B) oAl
(C)  America (C) =THfTERT
(D)  England (D) g

T14. What is the base of determination of  114. WRd & Feaifaf ¥ TEmdé-om F fafor =1

dearness allowance in India 7 ST 1 5 7 |
(A)  Consumer Price Index (A)  ITHET Iod YaFiE
(B} National Income (B) et amg

(C)  Per capita Income C) ufr=r=a a1

(D)  Life Status | D) e T
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115. Matdh [the following places with their ore 115. Frefafga wmi #t 395 |i a5

mingrals : 1y Hay i
{a) |Rawghat (i) Copper ore {a) TEERE (i) ETE TR
(by |Khetri (i) Lead-Zinc ore (by @ (i) -SRI
(¢} |Zawar (i) Manganese ore (c) T (ifl) HTE FEE=
(d) |Balaghat (iv) Iron ore (d) FEERE () FE AT

(a) | (b) (e} (d) (a) (b) () (d)
(&) 1@y | @) (D) () (A) () (D) @G ()
(By | ()| (i} () (i) (B) (v) () () ()
(C) | @D | () vy () (€ (G (v) (1)
(D) | (vy| () (i) () (D) (i) @) () (1)

116. The immediate product of photosynthesis 116, FhT HeeTwol &l T=H I8 7

15 0

(A) | €O, (A) CO,
(B} |92 (B) Oy

(C) | Water (C) T

(D) | Glucose (D) Tl

117. At which|of the following places a trial 117, ¥R f&= WIsl & 7 HeAafai-wed,

was [held| against the three generals of weAaT iR faedil & faeg fefafaa 9 9
Indiar National Army - Sehgal, Shah ol T4 T el =elE T4l ?
MNawaz and Dhillon ?
(A} | Vicgroy's Lodge, Simla (A) EEETE T, e
{B) | Wictoria Memorial, Calcutta (B)  fasifon TmTREE, werm
(C) | Red Fort, Delhi (€) = foen, foee
() | Nere of these (D) TTH § & T
SPACE FUK KU ywons o F =14 & e e
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110, DCUNUIIC FIENINE 15 @ Subject of 118. AT T4 999 8

(A)  Union List (A} T E
(B)  State List (B) T H\Tsﬁ 3

() Concurrent List () e ?ﬁgr &

(D) Special List (D) . H:qﬁ 3 .

119. JAM Trinity is being talked about in the — 119. = fa12t =1 == far == 4 9 29

context of :

(A) Regulation of Market (A) =R famm g |

(B) Transfer of subsidies (B) qafd (Hafast) & smrmm o
(C) Financial Literacy (C) fafen wmerar §

(D) None of the above (D) =wiiEs § 9 Fr T4 |

|
120. If a bill is passed by State Legislative  120. 4fa #i fada® W faum vfsg gm0 wfa

Council but not passed by State 1 U= faum 9w 5 wift| 78 fFa s

Legislative Assembly, what will T T 2

happen ?

(A)  The bill will be finally rejected (A) TatTs sifam =0 4 ﬁuc;z Eln

(B) Four months time will be given to (B) T=E fAY™ HW1 ST o9R Ealk=t=p
State Legislative Assembly feam s

(C) Joint session will be called for this (C) % famg ot Hga AfeEv e smm
purpose

"~ (D} The Governor will interfere (D) TAIE FEAAT H |
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121. Who
recent

(A)

(D)

122, As

femals

Rane

Current Affairs

¥ in the state ?

Kotumbser caves

Hill Myena

Dantwada

Tiger cub born in Nandan Van

Wild Buffalo calf born in Udanti

found

-male Sex Ratio in the state is :

has been named as ‘Deepasha’

£ Igaew lizard species found in

in

ey the Census Report of 2011, the

121. 79 ‘Smn’ AW T § ° e T mar

(A) ¥ 57 ¥ 90 g ue I v #
(B) T & o fod o AR F W

(C)  Sarsre? ] | qrEl T T T
PEIGEES

(D) darer § 2wl Tt gely verEl f9 w

122, T4 ¥ Higa-Jeu fFargoE =39 2011 &1
T & SATER A 87

(A)| Female  Male (A) Tfger TEY
1032 1000 1032 1000

(B) | Fernale  Male (B)y Wfged e
985 1000 985 1000

(C) | Female  Male (C) wfgen 5y
ami 1000 991 1000

(D)| Female  Male . (D) wfgen ey
D45 1000 945 1000
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123. Who has been appointed as the New  123. ‘21 37+l uve fardq stgeaz' % 9

Director-General of the “The Energy and TR & 9g W R |fFge fem e &0
Resources Institute” ?

(A) R.K. Pachauri (A} 2L, T

(B}  Ajay Mathur (B) &=y gy

(C)  Narayan Murti (C) AR g

(D) Nandan Nilkeni (D) eF tershmi

124. Identify the Indian Golfer who won the 124, 39 9EAE ‘TOewe’ &) HE{TA[HQ Ikl T 89

Gold Medal at the Special Olympics i UHem o Amifan s [t g
World Games held at Los Angeles, this T o = e S

year : |

(A)  Arjun Atwal (A) oA smaw |

(B) Rashid Khan (B) wIf¥E @[ I

(C) Prabharoop Shekhon (C) W&y yrgl

()  Ranveer Singh Saini (D) TR e 3

125. Who is the host country of 10th G-20 125, 10 ¥ Sft-20 == =7 ST % 1 72

Summit ?
(A) Turkey (A) =F
(B) China (B) =
(C)  Australia (C)  amfam
(D) France (D) wA
126. Sattriya is a dance form of which state 7 126. W0 707 foFg T F1 Fea Wit &7
(A) Manipur (A)  HOfrqE
(B) Kerala (B) %@
(C) Assam (C) SAEMH
(D} Odisha (D) swfewm
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127. Whao| athongst the following has been 127, T H 4 Y ' o s o T g
honourgd by “The Legion of Honour T foE] P B 7
Avrardl] 7

(A} | Syed Haider Raza (A)  Haz EeT T
(B} | Yashwant Sinha (B} == fH=
{C) | Shahrukh Khan (C)  wmEeEE ™|
(D) All the above (D) iR gt

128, Which freedom-fighter of this region had 128, 39 #9 & (e wandi=a 9 5900 3 5
given the clarion call “Satya se mat digo - T T2 - = S ud s fearan 7

chahe jivo va maro” ?

(A | Ot Ramdaval Tiwari (A} 9. THEEE e
(B} | Keyur Bhushan (B) bER!

() | Marendra Deo | (C) g 23

() | Pt Sundar Lal Sharma (D) d. Hewers

129. 'dassiterite” is an ore of which metal 129. 'FfEee’ fam ag #1 aEeE § W O

whith {s mainly found in this state ? TH T H 9 g
(4)| Manganese (A) HTHEE

(B) | Iron (By AT

(@) Uranium (C)  FLHTEH

() Win (D) Te

| SPACE FOR ROUGH WORK / T% & & fetet w17
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130. Which Indian Public Servant has been  130. W0 wam =i da5 wznsl 2015 % Y
selected for the Ramon Magsaysay TEH e & ferd =mfa e o g
Award 2015 ?

(A) Sanjiv Chaturvedi (A) HSE =gae
{B) Anshu Gupta (B) &Y T

(C) Kiran Bedi (C) o =

(1) Arvind Kejriwal (D) #iids Faiar

131. Who amongst the fcllmwing 15 a famous 131. 7= 1 9 519 y=m E?L{ GiE %:?
' santoor player ?

(A) Ravishankar (A) TavieRt

(B}  Shiv Kumar Sharma (B) o oI wwp
{C) Ananda Shankar (C} Mz 7Tt

(D) Amjad Ali Khan (D) @T9=E el |@H

132. 2015°s Wimbledon Tennis Tournament 132, 2015 % fofawmer 2w itz F pfeen 77a
f

Ladies Double Title winner Sania Mirza’s F Tgae stat e Gt fhet =51 :{ZITE‘?ICI
partner belongs to which country ? feemst PR sw w7 22

(A) Serbia (A) |

{B) Switzerland (B} wElzanels

(C) Russia (C)  Tfarm

(D) Hungary (D} &7
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I Ol =D
T HAlfamA & &1 |@Eg : 3.00 9U2T _
Time for, marking answers : 3.00 Hours
iz

1. iﬂ?'ﬂi—ﬁmﬂ o 11 o 2
Wr{maﬁmm : 1-20

4'" wifirsRay 3t : 150

. Maximum Marks : 150

AT Tt : 21-30
AT 3T : 31-40
Jlrl:jld : 41-70
AR : 71-85
HHTA FA7 ; 86-120
SEEIIPET) ¢ 121-135
T/ HatHd 7 : 136-150
u?ffajc T 1 3 @R :
2 ytr—ir I, a1 T SLUH. AR, (SH-T9E ) 91 Hfed it |
3. T BT SAfeRd T U 1/4 3R @S WrE |
4. o it m % Segoet 91 @0 299 Ud HidEe W & FE0 atad ¢ |
5. TS SO TAne F TR viE T e e qen 79 e A9 WY o 5 1 et ¥ wfw
S-S 1 HaT St F ST FH AT 591 =AMEY |
6.  IAL-YiE S WA e B GH S STHEYE 7 5 (e 9 e S A IHA A A fHeree e
TZ[HE M aE wlE B |
Note :
1.  This Question-Booklet contains Parts :
Computer Related General Knowledge 1-20
General Hindi 21-30
General English 31-40
Mathematics 41-7{0
Mén al Ability 71-85
Gcmerai Knowledg: 86-120
.i: nt Affairs 121-135
State Related Knowledge 136-150
Eaeh guestion contains 1 marks.
2. \fIc:l your answer on the OMR Answer Sheet provided.
3. 1;’ tk will be deducted for each wrong Answer.
4.  Use of any type of calculator, log table and mobile phone is prohibited.
5. Candidates are permitted to carry away the carbon copy of Answer-sheet and Question

Bopklet with them, but they shall submit the Cover Page of Question Booklet to the Invigilator

0. W

aftﬁtrl the examination.
or sﬂmled due to folds and wrinkles.

ile using Answer-sheet care should be taken so that the Answer-sheet does not get torn
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